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E-240 BUSINESS ECONOMICS 2018

Time : 3 Hours | Class : 12th [ M.M.:100

Instructions:
(i)  Allquestions were compulsory.

(ii)  Question Nos. 1 to 5 are objective type questions which
contain choose the correct alternatives. Answer in one word,
Fill in the blanks, Match the column, True or False. Each
question carries 5 marks.

(ii)  Question Nos. 6 to 10 very short answer type questions each,
carries 2 marks. Word limit 30 words.

(iv)  Question Nos. 11 to 14 short answer type questions each
carries 3 marks. Word limit 75 words.

\%) Question Nos. 15 to 21 long answer type questions each
carries, 4 marks. Word limit 120 words. '

(vi)  Question Nos. 22 to 26 very long answer type questions each,
carries 5 marks. Word limit 150 words. ]
(vi)  There is no boundation of word limit in numerical questions.
SECTION-A (OBJECTIVE TYPE QUESTIONS)
Ql Choose the correct options : | 1x5=5
) Macro economics is related to :
: (a) Individual quantity (b) Collective quantity
(¢) Individual production  (d) Trade -
(i)  "Supply creates its own demand” who said it?
 (a)Prof.J.B.Say ~ (b)Ricardo
(c) Prof. Pigou (d) Keynes
(i) Secondary functions of money in
(a) Basis of deferred payment
(b) Store of value
(¢) Transfer of value
(d) All the above
(iv)  "Who delivers the speech on budget”
(@F Qreign Minister (b) Prime Minister
(c) Home Minister (d) Finance Minister
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Q2

Q4

Q5

" Q6

©On)

(v)  Unfavourable balance of Payment is :
~ (a)Less Import

(b) More Export

(c) Less Import and More Export

(d) More Import and Less Export
Fill in the blanks : ' Ix5=5
()  Medium of exchange is the function of money.
(i)  Finance budget is presented in the Parliament by
(i) Rapid growth in population is a great cause of

balance of payment in India.
(iv)  In ancient time the needs of human beings were
(v)  The supply of factors depend on cost.

Answer the following in True/False : 1x5=5.

)] Reserve Bank is the Government's Banker.

(i)  InIndia Zero budget system is acgepted.

(i) Inperfect competition market the number of buyers and seller’s
quantity very minimum.

(iv)  After increasing the price there is no increase in supply of
factor. o

(v)  Direct and Indirect taxes are complementary to each other.

Match the following columns: 1x5=5
" Al! “B"

(i) Wages | '(a) West Bengal

(ii) Jute Industry " (b)DirectTax

(iii) Income Tax (c) Factor Income

(iv) Modern Principle'of Taxation  (d) Profit

(v) Entrepreneur (e) Principle of Elasticitly

Answer the following questions in one word/sentence : 1x5=35
@ Very short period price is called L

(i) Income and Expenditure of the government is called.

(i) Who gave the maximum social benefit principle?

(iv)  Who is the propagator of Statistics?

(v) Whatis known as economic barometer?

A% ]

Write the two functions of money.
Write the types of banks. (any two)
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Q7

. (Or)

Q8
(Or)

Q9 -

©Or)
Q.10
(Or)

Q.11
(Or)

Q12

(Or)

QI3 -

(Or)

Ql4
(Or)

Q15
(Or)

Q.16
(Or)

Ql7
(Or)
QI8

(Or)
Q.19

(Or)

Write the sources of Income. (any four names) 2

Write the meaning of budget.

What is meant by 'Barter System'? 2
Write the characteristics of Monopoly. (any two)

What is meant by Gross Rent? | 2
What is Normal Profit? )

What is meant by Secondary Data? 2

Write any two merits of mode.

LD

Write any three merits of the Direct Taxes.

State any three demerits of Direct Taxes.

LI

State any three causes of Tax Evasion.
Differentiate between Direct and Indirect Taxes. (any three)

Calculate Arithmetic mean with the help of following data :

p—

Values 5 10 15 21 25| 3 |35

Frequency 2 7 11 5] 10| 4 |1

Calculate median with the help of following data
30,20, 15, 10,25, 35, 18,21, 28,40, 36

Write the importance of Index Number (any three) 3
Explain any three limitations of Index number.

Explain the importance of Macro Economics in four points. 4
Write any four limitations of Micro Economics.

Explain the measures to correct the excess aemand (any four) 4
Write any four differences between Classical theory and Keynes
theory. http://www.mpboardonline.com |

Explain the importance of ‘Budget'. (any four) 4
Explain the types of Budget. (any four).

Write four causes of adverse condition of Balance of Payment in
India. 4

Describe the composition of Balance of Payment. (any four)

Describe measures to improve the condition of unfavourable Balance
of Payment. (any four) 4

Write the causes of fluctuations in exchanges rates. (any four)
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Q20
(Or) .
Q21
©n
Q2
©n
Q23

(Or)
Q24

~(Or)

Q25
On)
Q26

©n)

Give five examples of Cash (commercial) Crops. ' 4
Write four problems of Paper Industry in India. |
Describe the causes of low national income in India. (any four) 4
Write the differences between GDP and GNP. (any four)

" Explain any five factors to determine Propensity to consume. 5

Write the characteristics of classical theory of Income and .

Employment. (any five)
Write any five factors affecting the scope of market. z

State any five characteristics of Perfect Competition.

Write the differences between Economic Rent and Contract Rent. -
- (any five) 5

Distinguish between Real wages and Actual wages. (any five)
Write any five problems facing the Cotton Textile Industry in India. 5
State the importance of Iron and Steel Industry in India. (any five)
Measure the National Income with the help of following data by

Income Method : . 5
| T (in érore Rs.)
() WAEES oo, ' Rs. 30,000
(i)RENt ...oree L  Rs,10,000
ili) Interest .ooe. - - Rs, 50,000
(iv) Consumption ........ R Rs. 10,000
W Grosé. doxﬁestic investment Coe Rs. 4000

Explain the importance of Nationa Income. (any five poihts) |

l;:l:l.'u-"
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